Use a Venn diagram to calculate the
HCF and LCM

Choose a word to complete each sentence.

) (multiplging] [ adding ] (intersection]

( circles

The common factors are written in the _lnterse civon of
a Venn diagram.

the common

The highest common factor comes from _(Nubipbuono,
v
factors together.

24=2x2x2 %3 36=2%x2x%x3x%x3

a) What are the common prime factors of 24 and 367 _2. 2, 2

b) Write the common factors of 24 and 36 in the Venn diagram.

Write the remaining factors in the Venn diagram.

§ Factors Factors
of 24 of 36

2

2

3

¢) Use the Venn diagram to find the HCF and LCM of 24 and 36

HCF =_2x2 X3 = \2

LCM = 2x2x2x3x3 _ 72

o Complete the Venn diagram to find the HCF and LCM of 48 and 120

48 =2 x2%x2x%x2x3 120=2%x2x2x3x%x5

E Factors Factors

of 48 of 120
HCF = _222xQ*3 =| 2y
LCM = 2 x2x2LAL X3XS _ 240

° a) Write 63 and 45 as products of their prime factors.

63 =3xX3x%}

45=_2xDSAS

b) Use a Venn diagram to find the HCF and LCM of 63 and 45

§ Factors Factors
of 63 of 45
3
3
HCF = 5%3 =| q
LCM = F 2 5%3 <5 =l 515
¢) Use your answers to work out the HCF of 63 and 90 Lf

Explain how you worked it out.
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o The Venn diagram shows the factors of two numbers. A and B.

a)

b)

(9]

d)

e)

f)

5 4 B

Is 6 a factor of both numbers?

Explain how you know.

14 is a factor of A but not of B.

Explain why this statement is true.

Werite three more common factors of A and B.

What is the HCF of A and B?

What is the LCM of A and B?

Is A greater than B? e

Show how you worked it out.

<

P=3x5x7 @ =3 x 5% x 72

What is the HCF and LCM of P and @?

Draw a Venn diagram to help you.

HCF

LCM

g and h are prime numbers.

X=3%x7xgxh Y=3x5xgxhxh

Find the HCF and LCM of X and Y.

Use the Venn diagram to help you.

HCF

LCM

3

Factors
of X

Factors
of Y

4
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